12 by 15 Masyu

Draw a single non-intersecting loop that passes horizontally or vertically
through all circles. You must pass straight through white circles and then

make a 90 degree turn in the preceding cell or next cell. The loop must make
a 90 degree turn in dark circles, but must go straight through the next cell

or the one before.

@

————
——
——
—_———

____+_;;_.

===

@,

—_— = S ==

@
O
@

@

Fm— ="

+
T e ————

@
@
@

—_——
+
+

@,

oot ————+

oy S

== — - —— -

=== -==C

oot ————+

)
O
)
@
O

1
|
I
1
+
1
1
1
1
+
1
I
I
1
+

@,

I el

----+----+----+----+----+-:;-+----+----+----+----+-----

@,
O
@,

e et et it et

G e s it Sttt

@,

B R e it T Stk Sttt ettt

+----+----+-:;-+----+----

@,

m————

O
O
@,

-----+----+----+----+----+-jj-+----+----+----

O

+

@,

+

+

@,

it il Sttt Stttk Stttk

@,

-

@,

Fm———t -+

@,

oy

1
\
I
1
+

@,

[F pp—
T i

@,
@,

S o ol e ettt it et il

@,
@,

B e it ettt Sttt ittt S il

B e it il Sttt il etttk tatat = e il et

+

e ST S e — o~ ———— b — = —

B et it St ettt il

T
T
e e =
f e e e =

@,

O

www.mathinenglish.com

copyright:



Answers

Draw a single non-intersecting loop that passes horizontally or vertically
through all circles. You must pass straight through white circles and then

make a 90 degree turn in the preceding cell or next cell. The loop must make
a 90 degree turn in dark circles, but must go straight through the next cell

or the one before.
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